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AZ: D =28 SN SR FNLSD
HE: DEMAHY
Chelr 2HEAT Bl (REAY) (B9 ®R)
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
OS28=F3X X749 82 82 M
100,000& = 10074 10,000
OSEFEX HsdA=4ARARE 2+
70,0003 321 +23| x12& 5,040
OSEFEX MY 228 AN M
100& %10,0000H 23! 2,000
OIS AEIH WA
1983 «8,0000H x12& 19,008
O8Y & MHig DM 2= ME
773 *11,0000 =122 10, 164
OMNEE MEXR 2= IXNA A= M
773 %200,0000H 15,400
OXe & AFoHM MHE IXAN ME
75,000& 208 A 1,500
OFFX UEig dXNER Ul =5
800,000& »12& 9,600
OFEX LHE MESHE S X2
16,000 128 192
OFFX LUEHE MENE =25 X2
400,000 =123 4,800
OSZ & CCTV &= HEAMSKM 2AF ME
120 x12,0000 = 12& 17,280
OSte ARA U CCTVARA B4 AUE
109,200 128 1,311
OEY=EX 3XN7Y 88 M=
5,000,000& =14 5,000
Ofst g7 =& 3,000& »600AH 1,800
O= &l 16,464
—EYHFEXN HE 22X S4AH| 16,464
ESPIR= 7,0003 «3H «20 « 128 5,040
OF 2+t 7,0003 x6H «20L x 128 10,080
SLHS 7,0003 x2H «8L x128 1,344
02 =224l 398,914 351,700 47,214
ORERS 384,114
— MUAMNAMEBM LS (CCTV)
1, 7703 2,000 x12& 42,480
~HUNUERA LS (HEC)
1, 7703 7,200 x12& 152,928
—HUANMEEN BHEE MES(CCTV, 8@
=) 2703 3,000 123 9,720
— SR (FHIIZ) 1,770& 4,000 x12& 84,960
— oAM= HoZn SE 270F*2504 x 128 810
— 38X - XX SE 1,770 800 A 1,416
— DEHE BtE XN & SEE Y3
2703 %10,00024 x 123 32,400
~DEE YR S5F 23
270& x220,000A 59,400
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A= 2N SR ZHRSU
=R
el SRS (DEAY) (B9 ®R)
CE(BH) - HEAY - B2 O Ak o8 ﬁlf& HD=2
Zegs @40 AH
100, 000& *12JH 2~ 1,200
UoST FLAOAS ARLY
70,000& 5H 350
02 BBl 5,295 5,225 70
OUE U ASHASEN HALAET 248
3,000& 20021 600
oREe2 4,695
—SJ|2# 1,770& x2,00021 3,540
— b H 2703 *1,500H 405
—Bs=2 1,500& *50021 750
HESAAL(EEF FMns) 144,988 129, 189 15,799
Ol 2UH (REAY) 144,988 129,189 15,799
ol 2AH| 144,988 129, 189 15,799
101 @121l 144,988 129, 189 15,799
02 JIEt& E % 144,988 129, 189 15,799
OAIZEM HSE& ol A4 144,988
-0 1,162,511 x6H 128 83,701
—aAUBEEHS 83,700,792& x2.90/100 2,428
— &I YEE 2,427,322 «6.55/100 159
=0HZEE= 83,700,792& *4.5/100 3,767
neysa 83,700,792 x1.4/100 1,172
AATHHEE S 83,700,792& *1/100 838
g2 6,000,000& »3H 18,000
EEE
80,000 *35A1 2+ /40Al 2t +6H =128 5,040
238 x|
105,000 *35A1 2+ /40Al 2t +6H =128 6,615
HHZAH| 130,000& 6 x12& 9,360
A IS AbH|
1,162,511 x84/100%1/226% 140 Al 2+ 6 H 3,630
PN SR 83,700,792&*8/100 6,697
— XU (FHI)
3,350 x10Al 2t*35A1 2H/40A] 2t x6H x 12€ 2,111
— AHSdl =&
420,000 *35A1 2H/40 Al 2Ex 1 %4 3] 1,470




